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1. logya =5log,B =30, &, LLFTOXEXDEZ KD I,
@ logy(ap)

3

® 1o (2)

2. UTOERDOMERD X,
@D cos15° — cos75°

@ cos45°sin 75°

3. UFOKRUIZHWT, v & x THOE X,
O y=-x?>4+2x+5

@ vy =cos3x

4. FIFRIT 1% THD LT 2, bHERITTHY 22 5%H 500 THOEERH Y, Zzmas 100 7H
FTOBENCHTTHAT D & &, BARBOEFZ KD X,



BEPINTAN2) FHEME BEH
2015.6.29 124 : il [

1. logya =5log,B =30, &, LLFTOXEXDEZ KD I,
@ logy(ap)

log,(a x B) =log,a+1log, f =5+3=8

3
@ log, (%)
log,(a® + B?)
= log, a® — log, B?
=3log,a —2log, f =3X5—-2%Xx3=15-6=9
2. UTORERXDOEE KD X,

@D cos15° — cos 75°
cos 152 — cos 75° = cos(45° — 30°) — cos(45° + 30°)

= cos 45° cos(—30?) — sin 45 sin(—30°) — {cos 45° cos 30° — sin 45° sin 30°}
= cos 45° cos 30° + sin 45 sin 30° — (cos 45° cos 30° — sin 45° sin 30°)
V2 1 V2

=2sin45°sin30° =2 X — X - = —
Sin Sin 2 2

\S]

@ cos45°sin 75°

1 1
c0s45°sin 75° = E{sin(45° + 759) — sin(45° — 75°)} = E{sin 120° — sin(—30°)}
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3. UFOKRUIZHWT, v & x THOE X,
O y=4

y'=4%In4

@ vy =cos3x

y" = (cos3x)' = —sin3x X 3 = —3 cos3x

4. FIFRIT 1% THD LT D, bHERICTHH 22 H%H 500 THOEERH Y, Tz 100 7H
FTObENCHT TMAT D & &, BARBOEFZ KD &,

1000000 + 1.01° + 1000000 + 1.01* + 1000000 + 1.013 + 1000000 + 1.012 + 1000000 + 1.01

1(1 - 1.015)
1000000 x (LT LOT+ 1012 +101° 41018 —T— 101
1.01° 1015
5.101005
= 1000000 X ——=——- = 1000000 X 4853431 = 4853431

4853431 H



